Test

1\

(Ul 2

Course Student ID
MAT, T (2572446
Question 2a 2b
Points 2 D)
MAX: 6% MAX: 2.
Question 3a 3b 3c
Points 7 G o
MAX: 9 MAX: 9. MAX: 7.
Total DI

MAX: 35




[27(2T 4

N "N
N+ ,an = 6 6

D] " ) |

= 6 =L (203202 0)
L Czn+ 3)’ @

© 67 (b 2D (22D
(2~+2))

- 6" 6/402'4— {Or\* (2_)
\\

(2#» 1= g) )

- (4”L’[OH’JQ—> »
(2—Y\+'?>>“ N




[ D] ) (x=6) 2 -
(L]

>
L (2% 7Y
(as
A I
—— IS inCREAS) -
£ = zx-«-/ -
EASING
SO Z h"!c%;{ .
A~



QZ + Div ‘ A
—SERIES
0,

22n+

=) 3.(\1*31‘_7 j d
L(m
T _comrhe '\/
1son] )
|

O




(6] on (2 e5Y - ol 25y, o

N7 0 @ CD @

Sf Z @"ej—\)h Dw\/lﬂo)\/@Qée;\)cd%D

>
, n 5
[l\/\ < I CD\’ 6"1‘—> o~ In (D -eX% _ ';m —p %
X=—>D X—> o0 3_\2 S 58 ),eéz

© ®

|1 (@



led |7l 2 cos ne ||
Bé 7’4005V\é,”®
@l(7‘4w5m>{;‘hé Hf/’nj" —‘é’n

BN 2L con Mmul éeb
So‘i (74 cos n)-€ " cowV GCOM'QCT\)TZJ O’*J>

®




